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1. The T.C behind the comparison of English expression "two books™ with "paenj gorbe".
a. similarity in meaning
b. similarity in structure
c. the existence of plural marker in English
d. the absence of plural marker in Persian.
2. Which statement 1s true?
a. Applied CA is the scientific study of languages in contrast.
b. Applied studies often concentrate on difference@ §

c. Applied studies are in equal degree interested inf sizhitarities and differences.

d. Pragmatics

d. deviant language
e analysis activities are performed in of contrastive analysis hypothesis.
b. strong version ¢. moderate version d. practical version
atement is TRUE?
a. The moderate version of CA claims that minimally distinct structures are move problematic for

learners.

b. The weak version of CA is predictive.

c. The strong version of CA belongs to the field of Error analysis

d. The weak version of CA claims that more different structures are more difficult to learn.
7. Which sentence is a non-basic sentence?

a. They painted the wall pink. b. I am responsible for you

¢. Mehdi saw a car in front of his house.  d. He wrote a letter.
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8. Which sentence has a three-place predicator?
a. We considered the suggestion b. The meeting was ten thirty.
c. Mehdi is intelligent. d. Mehdi wrote a letter to Ali
9. In the sentence "baran mi—bar—ad?".........
a. the predicator is zero-place predicator. b. "aed" is argument.

¢. "baran" is argument. d. the predig predicator.

a. 1Isomorphism
c. collocation
11. In the sentence "It's 100 kilometers to Tehran" .
a. "is" is the predicator
¢. "it" 1s argument
12. The verb "goed" is an examp
a. transformation . shit . overextension d. overgeneralization
13. Which sentence
b. It is red
d. He is strong.

14. The mogpteme "—&m" in "xodam" is ......... .

a. predicator b. clitic c. prefix d. topic

15. In "Mehdi feels comfortable™ ........ is the predicator .

a. feels b. feel c. feels comfortable d. comfortable
16. Which sentence is a non-personal sentence?

a. muha-yem mirizaed. b. Mehdi qevi @®st.

c¢. Parvin dustesh @st. d. reng-e Mehdi sorx shod.
17. In the sentence "the news surprised everyone” .......... .

a. "the news” is stimulus. b. "everyone” is stimulus.

c. "the news” is agent d. "every one" is predicator.
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18. The Persian sentence "dastam dard mikonaed " .......... .
a. has two-place predicator b. is a personal sentence
c. has one-place predicator. d. has personal argument,
19. Which verb is a reverse psychological verb?
a. I paid the bill. b. Everybody remembers his name.
c. The grade disappointed the students. d. The wall was
20. Which sentence has two — place predicator?
a. He gave him the book
c. Mehdi ate the bread.

a. stylistic
22. The direct object "the enemy’
a. 1s predicator . 1s agent
. 1s stimulus d. is rendered into Persian with prepositional object
1/ verb have a cognate object?
b. Mehdi died a violent death.
d. They fought the enemy.

. He treats his wife badly. b. Mehdi called up his sister.

. Parvin helped her mother. d. Parvin left the house.

. Which phrasal verb is synonymous with the underlined verb in "they will board the ship in

Japan™?
. take off b. get on c. getin d. get over
26. The 1nitial soond in "thin" is ...........

a. affricate b. velarized c. aspirated d. fricative
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27. What is he complaining
a. with b. from c. ahout d. of

28. Which sentence 1s the deviant paraphrase of "this pool is as deep as that one"?

a. These two pools are the same depth.
b. This pool is the same depth as that one.
¢. This pool has the same depth as that one
d. These two pools are deep.
29. Which sentence is a deviant English sentence?
a. These two tables are the same width.
b. Did you help them when they needed?
c. He discussed the experiment in great detat
d. I approve his behavior.

30. Which sentence 1s a deviant

a. manners of articulation b. place of articulation
C. voicing d. air stream mechanism
32. I am tired this business.

a. of b. from ¢. with d. on

33. The sounds called are released when they are fully articulated, 7 they are unreleased.

a. dentals b. stops c. fricatives d. palatals
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34. Which statement is TRUE?

a. The /k/ in "sky" is an aspirated sound.

b. English and Persian /d/ are phonetically the same.

c. The final sound in the word "mix" is fricative.

d. Inter-dental sounds are non-existent in English.
35. Which vowel is a front vowel of Persian?

a. v/ b. fo/ c. fa/
36. Which one represents an emphatic accent?

a. J'ohn mailed the letter. (Sentence stress is on "John")

a. white gold

38. Which statement i§ T

d. The group of related words are called approximative system.
39. Which of the following compounds is transparent?

a. blackmail b. brainwash ¢. hot-dog d. bus-driver
40. Which one 1s a phraseological collocation?

a. show one’s teeth  b. take a break c. red tape d. kick the bucket
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